
• As you can see in the image,  Point #3 and #6 both on the edge of the board, And both close to the splint. This will cause the stress value 
to be larger than other points.

• The reason why the stress value at point 6 is higher than that at point 3 is that a terminal needs to be inserted into the edge of the board 
near point 6.

• Point 4 is the most critical, near an IC , It can be seen that the stress value is the smallest in the test, so when the terminal is inserted, it will 
not cause any damage to the IC.



The positioning clip can move left and right:
The distance between the positioning clips is more than half the length of the PCB
The positioning clip will not touch any components



Under the premise of ensuring stable 
and qualified terminal insertion, by stroke 
adjusting nut, adjust the height of the 
insertion, We got another test data 



The stress value tested after adjusting the insertion height









IPC-9704 test standard: the stress test value is qualified within ±500ue





— 7x24 Worldwide Support

— Free Installation/ Training

— 1 day lead-time (spare parts)

— 1 Month customize solution
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Find us more https://www.facebook.com/autoinsertion

Know more our team https://cn.linkedin.com/in/smtsupplier

Welcome to our factory in Shenzhen China

See more machine working video, please Youtube
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